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1 Nov 2018, Radar 1, Temperature 10°C

=
Ul

Rain rate, WT X520 [mnyh]
=
U

o

N

-
Occurence [%0]

Correlation between Zd and Zm
© O © © o o O
w BN @) (@) N/ (0] O =

0 1 2 3 4 5 -300 -200 -100 0 100 200 300 4 -2 0 2 4
Rain rate, Parsivel [mmy/h] Time lag [s] Z difference [dB], Parsivel - Radar

| | | |
J — Radar
B - L ~ L) — Parsivell™
‘ , T, : M L\{u“ \ | AH“MHA"‘H“"‘_ __,rw“' l‘lﬂ N '{‘ﬁ"‘ | | ‘H‘["
B A ' ' I\l n o A AT L \ A | | —
— - \ -“ 3 WH W : ~
BI _ Al r_" ‘l‘ “I'_‘ ‘ \ I B
O, gi \ W\
N _
0 _
5 _
-10 . L
12 17
Hour [UTC]
15 5
— Parsivel - Radar
_cg 10 — Rain rate 4 £
3 :
Q
c > -3 =
5 2
uqqi) 0 — 2 L
O .%
N -5 -1
-10 0

13 14 15 16
Hour [UTC]



